(D
Vector ALgaéom,,

61, b, 01.«'?" ba ] )
.1(- . (ﬁg_) —+ ( bz) = ( ﬂaf bg_ j e, ;.F’{;
ﬂg, b5 ﬂs ‘f“’b; (/
v
(a"?‘ ’;)4' ‘1:;: ;+(’§+$)
-l 1l = da 4+ At a, A4,
scalor ]Bmv{'tr']’)/i @tim : 2 ,/4)_) . ( Aa,
" Al ————
v 21
)'(&:'P'jz.)-"— ;l‘l-;:-‘i- 2’;2
(;‘r*;lz,)"(-; = /'],'f;-f- ;L‘ij
4, b, |
olst -?haZM‘ZZ: (&,)-(51) - a,b, + 8, by + 3(553
a3 by
N <X
- N o ) L.
wev = | ZINT)). cosB ( & ¥ =5 (as 2143)
EE-_- apé:"' G_)__-éxz‘i' G‘;@; - a, é:: - a.;_
l) _,a A — -3 —,
a B 1759 3 3y 6' ez e}
' duet : ' '
Cross  pw Co I4f b, | = 8 b, - a, b, = la, a a
CTX D 5 3 &, by - a,b b, b, b,

CYight harol yude  for obirecTion

s

c MEXT = RZPU B 50D (FxT 20 > B 7 )

S o
®
Sk



